

IRCON-SOMA TOLLWAY PRIVATE LIMITED

Approved CSR Activities for the Financial Year 2017-18

SI. No.	Description	Location	Unit	Qty	Rate/Unit	Amount
1	Providing and fixation of four number of Desktop along with UPS and USB modem.	Local School in District Dhule, Maharashtra	No.	4	35,000.00	1,40,000.00
TOT	1,40,000.00					

Approved CSR Activities for the Financial Year 2018-19

SI.	Description	Location	Unit	Qty	Rate/Unit	Amount
No						
1	Supply, Installation, Testing & Commissioning of Solar based Equipment in the premises of mentally Retarded Residential School- Jyotirmay ETC-e smart make Solar Water Heater of 500 Lts per day capacity with all accessories.	Village Ner, Tal and District Dhule in the state of Maharashtra	No.	2	52,500.00	1,05,000.00
2	Supply, Installation, Testing & Commissioning of Solar based Equipment in the premises of mentally Retarded Residential School- 15 ft. high Solar street Light with Solar Panels having inbuilt battery for 12 hr. backup.	Village Ner, Tal and District Dhule in the state of Maharashtra	No.	6	17,850.00	1,07,100.00
3	Supply, Installation, Testing & Commissioning of Aqua Grand make water purifier of 50 litters per hours capacity with all its accessories, fastening and fitting.	Mentally retarded residential school at Junner, Tal. And district Dhule in the state of Maharashtra	No.	1	32,550.00	32,550.00
		Mentally retarded residential school at Ner, Tal. And district Dhule in the state of Maharashtra	No.	1	32,550.00	32,550.00
4	Supply, Installation, Testing & Commissioning of Solar based street light in the premises of mentally Retarded Residential	Mentally retarded residential school at Junner, Tal. And district Dhule	No.	6	17,850.00	1,07,100.00

	School.	in the state of Maharashtra				
5	Flex –Regular banners	Local school Dule in the state of Maharashtra	No.	1	2,065.00	2,065.00
6	Design, supply, installation, testing & commissioning of 5.20 KW of Grid connected SPV system for prarthmic Aarogya Kendra.	Prarthmic Arogya Kendra at village Saundane on NH- 3 in the state of Maharashtra	No.	1	5,04,666.00	5,04,666.00
7	Design, supply, installation, testing & commissioning of 5.20 KW of Grid connected SPV system for Gramir Rugnayaya.	Local Gramir Rugnalaya at village Zodge on NH -3 in the state of Maharashtra	No.	1	5,04,666.00	5,04,666.00
8	Design, supply, installation, testing & commissioning of 1.5 Kw off Grid Solar PV System	Jilla parishad Prarthmic Shala Magrul on NH-3 in the state of Maharashtra	No.	1	1,66,759.00	1,66,759.00
9	Supply, Installation, Testing & Commissioning of Aqua Grand make water purifier of 50 litters per hours capacity with all its accessories, fastening and fitting.	Jillha Parishad Kendra shala (School) at Arvi Tal & Dist. Dhule in the state of Maharashta.	No.	1	32,550.00	32,550.00
10	Supply, Installation, Testing & Commissioning of J.K. water solution make water purifier of 50 litters per hours capacity with all its accessories, fastening and	Jilla parishad Primary School at Mungse Tal and Distt. Nashik in the state of Maharashtra	No.	1	27,000.00	27,000.00
	fitting.	Jilla parishad Primary School at Sogras Tal and Distt. Nashik in the state of Maharashtra	No.	1	27,000.00	27,000.00
		Jilla parishad Primary School at Vadali bhui Tal and Distt. Nashik in the state of Maharashtra	No.	1	27,000.00	27,000.00
11	Supply, Installation, Testing & Commissioning of 1HP Solar Pump	Jilla parishad Prarthmic Shala Magrul on NH-3 in the state of Maharashtra	No.	1	1,35,761.00	1,35,761.00
Tota	l	1				18,11,767.00

Approved CSR Activities for the Financial Year 2019-20

SI. No.	Description	Location	Unit	Qty	Rate/Unit	Amount
140.						
1	Drinking Water ATM's	Mangrul Village	No.	1	3,05,000.00	3,05,000.00
		Sogras Village	No.	1	3,05,000.00	3,05,000.00
		Chinchave Village	No.	1	3,05,000.00	3,05,000.00
		Renuka Devi	No.	1	3,05,000.00	3,05,000.00
		Temple,				
		Chandwad				
3	Solar Power Backup to	Chandwad (10	No.	1	8,95,000.00	9,39,750.00
	Rural Hospitals	KW)				
		Patane Village	No.	1	5,35,000.00	4,32,717.00
		(5KW)				
	Solar Power Backup to	Govt. Police	No.	1	2,97,950.00	2,97,950.00
	Government Police	Station				
	Station	Chandwad				
4	Solar Street Lights	Mangrul Village	No.	15	19,863.33	2,97,950.00
5	Mobile Clinic Services	Sirohi District of	Year	1	13,92,000.00	13,92,000.00
	for one year	Rajasthan				
6	Contribution to PM		LS	1	10,00,000.00	10,00,000.00
	Relief Fund/Swaccha					
	Bharat Mission/Clean					
	Gnanga Project					
Total						55,80,367.00

Approved CSR Activities for the Financial Year 2020-21

S.No	Description	Location	Unit	Qty	Rate/Unit	Amount(Rs.)
1	Providing Semi-automatic Unit for production of Dignity Kits and installation of Vending Machines in schools of Ramban through Department of School Education and Rural Livelihood Mission of	Govt. Schools of Ramban District in J & K	No.	1	51,06,360.00	51,06,360.00
	Ramban District.					
2	Drinking Water ATM's	Laling Village on NH-3	No.	1	3,05,000.00	3,05,000.00
		Purmepada Village on NH- 3	No.	1	3,05,000.00	3,05,000.00
		Tehre Village on NH-3	No.	1	3,05,000.00	3,05,000.00
		Zodge village on NH-3	No.	1	3,05,000.00	3,05,000.00
3	Solar Power Backup Systems	Dy.SP office at Manmad	No.	1	3,67,646.00	3,67,646.00
		Govt. Technical School, Malegao on NH-3			4,71,926.00	4,71,926.00

Total work						1,06,24,140.00
		Laling Village on NH-3	No.	25	17,672.00	4,41,800.00
6	Solar Street Light	Rokdoba Hanuman Teple Near Arvi on NH -3	No.	15	17672.00	2,65,080.00
	Test Equipment including charges towards Training for Staff	·				
5	Supply of Tuberculosis Nucleic Acid Amplification	Sirohi District of Rajasthan	LS	1	15,83,842.00	15,83,842.00
4	Construction of 20 KL Capacity ESR (Elevated Service Reservoir) with requisite pipeline	Manmad Rokdoba Hanuman Temple near Arvi on NH-3	No.	1	7,99,840.00	7,99,840.00
		Dy. SP office at			3,67,646.00	3,67,646.00

Approved CSR Activities for the Financial Year 2021-22

Sl. No.	Description	Location	Unit	Qty	Rate/Unit	Amount
1	Drinking Water	Dasane Village	No.			3,05,000.00
	ATM's			1	3,05,000.00	
		Adgaon Village	No.			3,05,000.00
				1	3,05,000.00	
		Bhilkot Village	No.			3,05,000.00
				1	3,05,000.00	
		Shirvade Village	No.			4,37,000.00
				1	4,37,000.00	
2	Drinking Water	Malsane Village	No.			
	ATM's			1	3,05,000.00	3,05,000.00
		Rahud Village	No.			
				1	3,05,000.00	3,05,000.00
		Chikhalhol Village	No.		2 25 222 22	2 25 222 22
		5 1 1 1 1 1 1		1	3,05,000.00	3,05,000.00
		Devarpada Village	No.	1	3,05,000.00	3,05,000.00
3	Solar Power Backup	Primary Health centres		_	3,03,000.00	3,03,000.00
3	Systems	in Malegaon Taluka	No.	8	3,10,910.00	24,87,280.00
		Primary Health centres				
		in Chandwad Taluka	No.	6	3,10,910.00	18,65,460.00
4	Solar Street Lights	Primary Health centres				
		in Malegaon Taluka	No.	48	29,925.00	14,36,400.00
		Primary Health centres				
		in Chandwad Taluka	No.	36	29,925.00	10,77,300.00
5.	PMCares/Swaccha					
	Bharat	Transfer of unspent amo	31,50,000.00			
	Mission/Clean					
	Ganga Project".					
TOTAL						1,25,88,440.00